Play with BoxModel



Linear

Emissions (TgN20O/yr) Concentration (ppb)

315 4
25 1 i

310 -
24

231 f 305 /
| ! ! 300

22 1

21 - I ] | ] I | | 235 -

201 ' 290 i /
19 /

/ 285 1 |
18

T | 2804

17

T T T T T T T T T T T T T
1860 1880 1900 1920 1940 1960 1980 2000 1860 1880 1900 1920 1940 1960 1980 2000



Trends

Emissions (TgN20O/yr)

25 1

24

/

23~

22 1

21

20 A

19

18 A

17

/

e ———

1860 1880 1900 1920 1940 1960 1980 2000

Concentration (ppb)

315

310

305

300

295 7

290

285 A

280 A

1860 1880 1900 1920 1940 1960

1980 2000




Emissions (TgN20O/yr)

Concentration (ppb)

/

/

R ———

T T T T
1860 1880 1900 1920

1940

T T T T
1860 1880 1900 1920 1940 1960




Emissions (TgN20O/yr)

25 1

24 1

23

22 1

21

20 1

19 4

/

18

; T T T T T T
1860 1880 1900 1920 1940 1960 1980 2000

Concentration (ppb)

315 -

310 -

305 1

300 ~

295 4

290 ~

285

280

—— —

T
1860

T Li LE T T Ll T
1880 1900 1920 1940 1960 1980 2000




Linear

Concentration (ppb)

310

305 A

300 4

2954

290 A

285

Emissions (TgN20O/yr
. . (Tg yr) S5
24 T 4 1 / 275

22 | | . - - - | | 1860 1880 1900 1920 1940 1960 1980 2000
| | | Concentration (ppb)

20 / 315 I /
L P — ' i i 310

1860 1880 1900 1920 1940 1960 1980 2000 3054

300 4

295

290

285 1

280 1

1860 1880 1900 1920 1940 1960 1980 2000



Trends

Concentration (ppb)

310

305 A

300 4

2954

290 A

285 —

Emissions (TgN20O/yr
. . (Tg yr) 556
24 | | ! / 2751

22 A : i i 1 1 | t ' 1860 1880 1900 1920 1940 1960 1980 2000
Concentration (ppb)

20 I | | / 315 4
18 - ' : - - - /

— - 310

1860 1880 1900 1920 1940 1960 1980 2000 3054

300 4

295

290

285 1

280 4 — —

1860 1880 1900 1920 1940 1960 1980 2000



Concentration (ppb)

310

305 A

300 4

2954

290 A

285

Emissions (TgN20O/yr
. . (Tg yr) 556
24 | | ! / 2751

22 A E i i 1 1 i t ' 1860 1880 1900 1920 1940 1960 1980 2000
Concentration (ppb)

20 ' ' ' / 315 //’/7
18 4 ! ; 310

1860 1880 1900 1920 1940 1960 1980 2000 3054

300 4

295

290

285 1

280 4 — —

1860 1880 1900 1920 1940 1960 1980 2000



Concentration (ppb)

305 A

300 4

205 41— 1

290

2854

Emissions (TgN20/yr) 280 4

24 - | ] | | _ | | | 275

1860 1880 1900 1920 1940 1960 1980 2000

22 ' /\ ' —

Concentration (ppb)
20 4 | | ! ! 1 1 1 315 4 | | 1 | ! ! 1 /
18 . ! _ ! ! . . . 310

1860 1880 1900 1920 1940 1960 1980 2000 - /

300 A
295 4
290 4

285 4 7

280

1860 1880 1900 1920 1940 1960 1980 2000



Emissions (TgN20/yr)

260 1

240 A

2204

200

180 A

160 A

140

440

420

400

380

360 4

340 4

3201

Concentration (ppb)

1920 1940 1960 1980 2000
Concentration (ppb)

Y

1920 1940 1960 1980 2000




Add emissions from 1750 to 1850
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Add emissions from 1750 to 1850
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Add emissions from 1750 to 1850
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Add emissions from 1750 to 1850
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Inverse model on different part
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Inverse model on different part
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Inverse model on different part
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Add emissions from 1750 to 1850

— white noise



Add emissions from 1750 to 1850
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Add emissions from 1750 to 1850
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Add emissions from 1750 to 1850
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Different lifetime - Trends
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Different lifetime - Slopes
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Different lifetime - Bumps
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Different emissions ORCHIDEE
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Convergence for concentration




Convergence for concentration

Emissions (TgN20O/yr)

Concentration (ppb)

| 300 - | 1 | } ] 1
17.5 // T /’7 / /
15.0 / 250 |
12.5 — 200 -
10.0
150
7.5 1
100
5.0
s 50
0.0 0
1720 1760 1800 1840 1880 1920 1960 2000 2040 1720 1760 1800 1840 1880 1920 1960 2000 2040
Difference of emissions (TgN2O/yr) Difference of concentration (ppb)
17.5 1
— 2.0-
12,51
15
10.0
7.54 1.0
5.0
0.5 -
2.5 1
alo N 0‘0 4 -""\-h.__ "‘-—.__ —
1720 1760 1800 1840 1880 1920 1960 2000 2040 1720 1760 1800 1840 1880 1920 1960 2000 2040




17.5

15.0

7.5

5.0

2.5

0.0

Convergence for concentration

Emissions (TgN20/yr)

NN

1720 1760 1800 1840 1880 1920 1960 2000 2040
Concentration (ppb)
1720 1760 1800 1840 1880 1920 1960 2000 2040

0.0175

0.0150

0.0125

0.0100

0.0075

0.0050

0.0025

0.0000

Difference of emissions (TgN20O/yr)

1720 1760 1800 1840 1880 1920 1960 2000 2040
Difference of concentration (ppb)
1720 1760 1800 1840 1880 1920 1960 2000 2040




17.5

15.0

7.5

5.0

2.5

0.0

Convergence for concentration

Emissions (TgN20/yr)

1720 1760 1800 1840 1880 1920 1960 2000 2040
Concentration (ppb)
/ /
/ //
/ [
7
// —
1720 1760 1800 1840 1880 1920 1960 2000 2040

0.0175

0.0150

0.0125

0.0100

0.0075

0.0050

0.0025

0.0000

Difference of emissions (TgN20O/yr)

1720 1760 1800 1840 1880 1920 1960 2000 2040
Difference of concentration (ppb)
/ P | \ \
VAN / \
LN A\ / \
1720 1760 1800 1840 1880 1920 1960 2000 2040




	Diapo 1
	Diapo 2
	Diapo 3
	Diapo 4
	Diapo 5
	Diapo 6
	Diapo 7
	Diapo 8
	Diapo 9
	Diapo 10
	Diapo 11
	Diapo 12
	Diapo 13
	Diapo 14
	Diapo 15
	Diapo 16
	Diapo 17
	Diapo 18
	Diapo 19
	Diapo 20
	Diapo 21
	Diapo 22
	Diapo 23
	Diapo 24
	Diapo 25
	Diapo 26
	Diapo 27
	Diapo 28
	Diapo 29
	Diapo 30
	Diapo 31
	Diapo 32
	Diapo 33
	Diapo 34
	Diapo 35
	Diapo 36
	Diapo 37
	Diapo 38
	Diapo 39
	Diapo 40

